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BECE—142 : APPLIED ECONOMETRICS  

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from all the Sections as 

per instructions. 

Section—A 

Note : Answer any two questions from this 

Section. 2×20=40 

1. Describe the Ramsey's Test (RESET) for 

identification of ‘omitted variables’ and 

‘incorrect functional form’. 

2. Explain the effect of ‘lags’ on ‘market 

equilibrium’ with a graphical presentation. 
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3. Explain the application of Probit Model with 

an illustration for the estimation of its 

‘marginal effect’. 

4. Explain, with illustrations, the Panel Data 

Models. State the two main advantages of 

‘Panel Data’ over ‘Pooled Data’.  

Section—B 

Note : Answer any four questions from this 

Section. 4×12=48 

5. Distinguish between ‘quantitative research’ 

and ‘qualitative research’. 

6. State the consequences of omitting ‘relevant 

variables’ in econometric modelling. 

7. Specify the similarities between the Koyck’s 

Autoregressive Model and Nerlove’s Partial 

Adjustment Model. 

8. Elucidate the meaning of the term 

‘Simultaneous equation bias’. 

9. Outline the assumptions and properties of 

ILS method of estimation. Also, specify the 

steps in its estimation procedure. 
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10. State the assumptions required for the 

estimation of the ‘random effect’ models and 

‘fixed effect’ models. 

11. Present the details of testing for ‘regression 

diagnostics’ in ‘R’.  

Section—C 

12. Write short notes on any two of the  

following :  2×6=12 

 (a) Data Transformation in e-Views 

 (b) The Do-File Editor in STATA 

 (c) Highly Correlated Regressors  

 (d) Probit Model  
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 BECE–142 

ch- ,- (vkWulZ) vFkZ'kkL= 

(ch-,-bZ-lh-,p-)  

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-bZ-µ142 % O;kogkfjd vFkZfefr 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa esa ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A 

Hkkxµd 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj nhft,A 2×20=40 

1- misf{kr pjksa rFkk vuqi;qDr Qyu Lo:Ik dh igpku ds 

fy, jkels ijh{k.k (RESET) dk o.kZu dhft,A 

2- ,d xzkQh; izLrqrhdj.k dh lgk;rk ls cktkj larqyu ij 

foyacu ds izHkko dks Li"V dhft,A 

3- lhekar izHkko ds vkdyu ds fy, izkWfcV izfreku ds 

vuqiz;ksx dh mnkgj.k lfgr O;k[;k dhft,A 
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4- Qyd [kaM izfrekuksa dks mnkgj.k lfgr Li"V dhft,A 

ladfyr vuqizLFkr vk¡dM+ksa ij Qyd [kaM vk¡dM+ksa ds nks 

eq[; rqyukRed ykHkksa dks crkb,A 

Hkkxµ[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

4×12=48 

5- ^ifjek.kkRed 'kks/k* vkSj ^xq.kkRed 'kks/k* ds chp varj 

Li"V dhft,A 

6- vFkZfefrd izfrekuu esa laca¼ pjksa dh vogsyuk ds 

ifj.kke crkb,A 

7- dks;d ds Loizfrxkeh izfreku vkSj ujykso ds vkaf'kd 

leatr izfreku dh lekurk,¡ fufnZ"V dhft,A 

8- ^;qxin lehdj.k vfHkufr* in ds vFkZ dks Li"V dhft,A 

9- vkdyu dh vkbZ-,y-,l- (ILS) fof/k dh ekU;rk,¡ vkSj 

fo'ks"krkvksa dks js[kkafdr dhft,A bl vkdyu izfØ;k ds 

pj.k fufnZ"V dhft,A 

10- ^;kn`fPNd izHkko izfreku* vkSj ^fLFkj izHkko izfreku* ds 

izkDdyu ds fy, vko';d ekU;rkvksa dks crkb,A 
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11- ‘R’ esa ^izfrixeu funkuksUos"k.k* ds fy, ijh{k.k dk 

fooj.k izLrqr dhft,A  

Hkkxµx 

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, %

      2×6=12 

(v) b&O;wt esa vk¡dM+k izR;korZu 

(c) LVSVk esa Mw&Qkby (dk;Z&Qkby) laiknd 

(l) vfr lg&lacaf/kr Lora= pj 

(n) izkWfcV izfreku 

× × × × × 

 

 

 

 

 

 

 

 

 


